= o
N & o & AF & H A A
20169 = S0l& LB H 23t0=u
2N 230z
M 2oos &Y
& 2o=X2 243 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
E 30l =t 58,330,526 51,445,459 6,885,067
= 17,695,628
Xl 7,649,000
J| 6,160,008
< 26,825,890
Zstols &€ 39,242,405 31,655,660 7,586,745
= 8,259,555
Xl 7,649,000
J| 5,019,000
< 18,314,850
F=Xd 283t 4,520,326 2,480,225 2,040,101
= 250,000
Xl 380,000
J| 1,350,000
< 2,540,326
E=8 HAPAY XA 60,000 60,000 0
307 21201 A 60,000 60,000 0
02 B AAHEX 60,000 60,000 0
Os=s AFAE 60,000
S5 a4 UWnE 23R =ddd 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O&= 4d WY 2asd =i 20,000
=2 Y ZAFAUS 18,000 18,000 0
307 glz2tol & 18,000 18,000 0
04 QIZFHALAIH 2 = 18,000 18,000 0
055 sty 2AHAH3 18,000
ZoEWALE A 325,000 325,000 0
= 250,000
< 75,000
403 MtXISHE X201 & 325,000 325,000 0
= 250,000
< 75,000
01 X SHHAN2E= 325,000 325,000 0
OBHEl MAI=EX =4 325,000
= 250,000
S 75,000
TEHASAY 13,500 13,500 0
307 2201 A 13,500 13,500 0
04 DIZHHALALSE E X 13,500 13,500 0
OEEdEAY 13,500
CH4d3E wsEid 23,400 23,400 0
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25 230z
HH: 230z 2L
e S3d=XE 43 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ZE=230=03 2 2F 50,846 98,943 N48,097
307 2Iz2t0| A 50,846 98,943 N 48,097
05 QIZ2tR EF 2 50,846 98,943 N48,097
O==30=0lg 2 24 50,846
SHE=ET MER3 =N 20,000 20,000 0]
307 2iz2tol A 20,000 20,000 0
04 QIZ2tSHAFALS B X 20,000 20,000 0
OFE=EST M2 =AM 20,000
NMEUg 82 =4 2,025,000 0 2,025,000
J| 1,350,000
= 675,000
403 XX SRS K20 & 2,025,000 0 2,025,000
J| 1,350,000
= 675,000
01 MXHHE2BE =X 2,025,000 0 2,025,000
ONSU& gi=zxd 2,025,000
J| 1,350,000
& 675,000
Z23EIINNE =4 551,000 0 551,000
Xl 380,000
= 171,000
308 AMXISHMSOIA 551,000 0 551,000
Xl 380,000
o 171,000
01 AIXSHMENMNEX= 551,000 0 551,000
OFF23T A =4 435,000
N 300,000
= 135,000
OoOgsa3sos =4 116,000
Xl 80,000
= 36,000
E2ssM g4 A& 20,000 0 20,000
308 XX SHHSOIA 20,000 0 20,000
01 MIXHHINMNEEXTZ 20,000 0 20,000
OE2SsH &435 20,000
233 HA23ta A A 20,000 0 20,000
307 2Iz2t0| & 20,000 0 20,000
02 DI AAIE E X 20,000 0 20,000
O==232 =z 20,000
30z 4N 13,445,711 11,445,770 1,999,941
= 1,258,110
J| 3,269,000




2N 230z
M 2oos &Y
& 230z SN (&)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
< 8,918,601
0= dY 2IHIXA 300,000 300,000 0
308 XX EHSOIA 300,000 300,000 0
01 HIXNHHNBMNEES 300,000 300,000 0
OF=x0=2ddY 224l XN& 300,000
ANZHEZSHH = AL & 50,000 50,000 0
308 XXM SO0 A 50,000 50,000 0
01 IXNHHBNEES 50,000 50,000 0
OANZEs SHHES Heg 50,000
ZHl=xE Faas AH 517,000 547,000 230,000
201 2et24d] 2,000 2,000 0
01 At 22l 2,000 2,000 0
Ok XNZMsd 2INESE 2,000
307 gl2tol & 510,000 545,000 A 35,000
02 It M AHE X 400,000 400,000 0
OEXZu=t 29 400,000
04 QIZFHALAIH B = 110,000 145,000 235,000
OHM41sl sEEE 0lsthA 40,000
OM12s SH=2T ME 3 20,000
OXx26zsl s=AHMUUA 20,000
02016 &= &K &Mz A 10,000
O== 0t3t0lE A& J1&2 A 5,000
OHM162 SH3=T HUES3 15,000
308 AHXIEHSOIA 5,000 0 5,000
01 HIXNHHNBMNEES 5,000 0 5,000
FXZ wa '0lFDream' 5,000
NS SE M XA 100,000 100,000 0
308 XXM SOIA 100,000 100,000 0
01 IXNHHBNEES 100,000 100,000 0
Oustel= SEIJRHM XA 30,000
O=eldt &SI HM X 20,000
Od= &glieHMd XA 20,000
OR4A HZENHA X 20,000
OMAE Fteh M XA 10,000
2E =&AL XA 40,000 80,000 240,000
307 21201 A 40,000 80,000 240,000
04 QIZFHALAIH B = 40,000 80,000 A 40,000
O2AE 2= AL X 40,000
ROt 2stgs XA 488,514 488,514 0




M 2H0ED
dH: 20z 2
“4He: 2oz s8N (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
307 QI2t0| & 328,514 328,514 0
02 DI2ZtZ AAMEE X 328,514 328,514 0
OOt 2stgs NJAY 328,514
308 XX SHHSOIA 160,000 160,000 0
01 AIXHMBAEXZ 160,000 160,000 0
OF0tdte =434 160,000
SSE23H SEAHAXNA 88,000 119,000 A 31,000
J| 44,000
< 44,000
307 QI2t0| M 88,000 119,000 A31,000
Dl 44,000
< 44,000
02 DIZtZAAMEEX 88,000 119,000 A 31,000
OS=£2sd g2 N 88,000
Jl 44,000
& 44,000
=08 230l 2HUE X 270,000 272,000 A 2,000
307 212t01 & 157,000 159,000 A 2,000
04 QIZHSHAFAIE 2 X 157,000 159,000 A 2,000
OHM343 s=A=H HA 15,000
OHM343 d=HZM =t 30,000
OM293 s=844 A=K 12,000
OHM253 S=E2EM HAl 15,000
OM253 =222 H &I} 30,000
ORM34s =0 2E83AUS A 25,000
OFZHE A XZHAE = 10,000
02016 == & EZ2FZ Fe-Story M= 20,000
308 AtXI S M SO0l & 113,000 113,000 0
01 XX HHMBANEXZ 113,000 113,000 0
OHMI233 &) M=2stM=a AT 18,000
OHMI403 M=2EZ2U JI0k2F AU 20,000
OHMI173 CBSE=EHAHEH SABRE 10,000
OM103 ESs2H 15,000
02016 =2HM HAYE HAEY M= 50,000
d=0Zz0=dHUS &It 57,000 52,000 5,000
Il 10,000
T 47,000
308 XX S M SO0l & 57,000 52,000 5,000
J| 10,000
= 47,000
01 AXHNBNMNEXZ 57,000 52,000 5,000
Ost=0Zx0==sM HEE &It 40,000




2N
X ZH -
L= B

el

230l = ot
Stz FE
230 SEX

SA - BB B () - MM - BES Ol &t o San HmEET
Jl 5,000
< 35,000
Od=Fado=0=Md HWEE ot 17,000
J| 5,000
= 12,000
S=2US0=ZHUE 43,000 43,000 0
201 2et24E] 5,000 5,000 0
01 At 22l 5,000 5,000 0
Os=2s0=sd & FAHUSMsH 2HY
A 5,000
308 XXM SOl A 38,000 38,000 0
01 IXNHHBNEES 38,000 38,000 0
ORM223 s=s8=0==M 23,000
OHosl ==23A4E0EM =M 15,000
=S EM=M A& 280,000 280,000 0
307 glz2tol & 280,000 280,000 0
04 DIZHHALALSE E X 280,000 280,000 0
ORM23z s=8=0=H 80,000
ORNs8al s=0=H 200,000
245 593 N 117,000 157,000 A 40,000
307 21201 A 42,000 67,000 225,000
04 DIZHHALALSE E X 42,000 67,000 225,000
O=0Qlste FAZ(L2HEH) 10,000
OCJBE A J1E 323l 10,000
O8tHEE s+8243 12,000
02016 =S 10,000
308 XXIEHHSOIA 75,000 90,000 A 15,000
01 AXHHBIYEES 75,000 90,000 A 15,000
OZustg 24 S24M 30,000
OO0I=ZAtE D U2 d4E 23t0=H 20,000
Os=&2u &MHol= CBS 28 S43 25,000
== Fsosgd AFKA 36,000 93,000 A 57,000
307 21201 A 36,000 73,000 A 37,000
02 QItFAAHE X 27,000 30,000 A 3,000
O==E30l=0t3tdl0l 5,000
Os=0s3E 22t 10,000
OHAHZHX EOt=Sot E2HAY 12,000
04 DI2HHALALSE E X 9,000 43,000 A 34,000
O==Eselisal 9,000
=M Zst0l=nF A 65,000 65,000 0




25 230z
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e 23tz 4K (2 &HH)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 55,000 55,000 0
04 SIZ2ISHAAIH E & 55,000 55,000 0

Ost-& =23t s 15,000
O=E-HEY 23ltzsns 30,000
Ost-¢ Ol nsd 10,000
308 XAHXIGH SO0l & 10,000 10,000 0
01 AIKSHHENEXZ 10,000 10,000 0
OHM3s E#x==2H&dozsd 10,000

HNESS 0z MBS 129,000 114,000 15,000
307 QI2t0| & 40,000 45,000 A5,000
04 CIZ2tSHAPALS B X 40,000 45,000 A5,000

OHM21g M2 =sHME 30,000
OSE=EA 10,000
308 XAXISHMSO0|& 89,000 69,000 20,000
01 IXHHIMNEXS 89,000 69,000 20,000
OHN128 sE=02=2 2 &K 9,000
OAIEESAI D NHSAIS Ot (BHD|EHEH) 20,000
OF#ME =£ S35 20,000
OR4A MNIRES23A 20,000
O&olotd J|& I AHCH T 20,000
=22A4Z20F =2 A XS AS 568,220 568,220 0
= 284,110
=} 284,110
307 QI2t0| & 568,220 568,220 0
= 284,110
= 284,110
02 AI2tAAMAIE E =X 568,220 568,220 0
O=22AZ20F G2 A XNSAS 568,220
=2 284,110
& 284,110
A 230z DA 343,200 343,200 0
= 264,000
= 79,200
308 XAHXIEHSOIA 343,200 343,200 0
= 264,000
= 79,200
01 AIXSHMENMNEX= 343,200 343,200 0
OXNEELSIE2H=zN=EARAL 343,200
= 264,000
& 79,200

Cg wect 29 1,796,310 1,504,836 291,474

201 YEr2 Y| 187,440 167,736 19,704
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2N 230z
M 2oos &Y
& 230z SN (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Oz &M 1,500, 000& *5CH 7,500
OZ2EctHIola 30,000,000 =1CH 30,000
Ozl gdols 650,000 »3CH 1,950
odgx 500,000& »24! 1,000
OH=E Rt 100,000& * 104! 1,000
20ISH(23HI2H) XA 2,059,200 1,917,000 142,200
J| 1,905,000
< 154,200
308 XX EHSOIA 2,059,200 1,917,000 142,200
J| 1,905,000
< 154,200
01 HIXNHHBNEES 2,059,200 1,917,000 142,200
OSgzsolEsd A 2,059,200
J| 1,905,000
< 154,200
2t NG 0z=nsSAddH 29 1,420,000 860,000 560,000
= 710,000
< 710,000
307 21201 A 1,420,000 860,000 560,000
= 710,000
< 710,000
02 B AAHEX 1,420,000 860,000 560,000
OS=ERalznsXAdH 2Y 300,000
= 150,000
< 150,000
O&LE ERIseEn 1,120,000
= 560,000
< 560,000
E=EEs2 29 321,100 270,000 51,100
307 glz2tol & 271,100 270,000 1,100
05 RIZtE = 271,100 270,000 1,100
Os=E=st2 24 271,100
401 AIEHI L 2CHEI 50,000 0 50,000
01 A& Bl 50,000 0 50,000
ES23A AEEZ A (+E1D) 50,000
0=t RS A 800,000 820,000 A 20,000
307 glz2tol & 800,000 820,000 A 20,000
02 It M AHEE 800,000 820,000 A 20,000
OZE=Zs M 2ol SHSAY 800,000
ANEEAFAY 2,405,000 2,182,000 223,000
J| 1,310,000
< 1,095,000
307 glz2+ol & 2,405,000 2,182,000 223,000




o (] (] o o o o o N~ N~ N~ o o
S 8|88 S 1|8 ©|e|© S |8
x5 o) o |w |w o v NEEYEEN o | o
N N Y] (a\] (V) Al [aV\] [e ] o] [e ] o o
El
E=]
o o o o o o o o o o o o o
o o o o o o o o o o o
o (@] (@] (@] o o o o o o o
o s |lo|o S |o o | w |w )
[e) -
Wik o
RS
o O o O O O O©O O O O OO O O o o o o o o o o o o o o o o (e} o o o o N N~ N~ — o o (<o) o o
o O o O O O O O O O OO O O o o o o o o o o o o o o o o o o o o o (<o) (<o) [<e] N~ [ep] o (<o) o o
C SIS OS5 S S S8 S OS5 SS S SO S |88 S |8 3 S|e|a|d S|a|e S|n || ® v S NS5
(RaTe] ) O O O O U W O WW O - I N O© — o o o o o o o o o o o o o o o [N} [N] [N w0 o — — o o
— O (@] O O O M O©W W ™~ OO Nl © ©O© M N~ © M~ o (@] (e} N~ N~ Yo [aV] (e} Yo Yo} Yol Yo} Ye] Yo Q o6} o0} ™ [ee] (<o} (e} (]
D OS|IT I = O —— A — = — OO WO O —|— - |- - — N SV RV © ©
- > S| X .
I SR P -
<
=3
~ W = W = W = U =W = W
i
ar Bl
&) H
ml = o =
! 5 - 80
. o0 ) =< 4] 30 O
3l = R0 70 = M
< 70 ol | & o o W ¥
o+ - o | Of - < = R K
ar — or) Ol - of of oF
= od = o oMW | a0 00 ki O 30 80
= = = = _ | = o A v = OOH oM
o . o = o 60 uJ uJ H =
— = 00 o ) - ROK L
= bl = i Bl ol ol 3l D oy o= ol
= Ki = ol Ki |3 o o B L = @ O
ol o o ~ iy G W < h Ko | E N G
o D ok 31 > T 0 W o = >
& =< ar 00 =< ulo or 3 ) J WK S ™| | U0
- EUR) = | B2 = ir K i 5 =R Wl 5 5 W _ﬂ =
- R0 R Rl = |2 R ol = 2w = = S| MM I I | D
Rl N o S l®|n R |r 3 8 it0 =z W A |R Ko Mo Ko Ko =
%0 o O O _ﬁ 5l | o RIR O O W O wH O allal O OO0 Ol
. ] ~ |y © | — e} — |o ~ | o ol | ©
I+ A o0 [y




25 230z
HH: 230z 2L
e 23tz 4K (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AIKSHMEAMNEX= 600,000 0 600,000
02016 CHet2l= HA=2H (M348 M=2H2T) 600,000
23t omet 2 2 REx 4 21,276,368 17,729,665 3,546,703
= 6,751,445
Xl 7,269,000
J| 400,000
& 6,855,923
HEZ2MSAASH XS 250,000 250,000 0
308 XAHXIGHH SO0l & 250,000 250,000 0
01 IXHHIMNEXS 250,000 250,000 0
OHM123 HE=2HMS2I3A 250,000
22T AL A2 AE2A 722,168 579,465 142,703
= 481,445
o= 240,723
308 AMXISHMSOIA 722,168 579,465 142,703
2 481,445
=} 240,723
01 AIXSHMENMNEXZ 722,168 579,465 142,703
O3S A A2 AE2A 722,168
2 481,445
& 240,723
NN RS 25,000 25,000 0
308 XHXIEHSOIA 25,000 25,000 0
01 AIXSHMENMNEX= 25,000 25,000 0
OHM13al EXIAHCHA 25,000
eATX 3 Wz & =t 30,000 30,000 0
307 gizto| A 30,000 30,000 0
04 QIZ2tSHALALS B = 30,000 30,000 0
ONB83l &5 e-AZXU3 Mz &L d=203
=t 30,000
M2 X4 XL 110,000 0 110,000
Xl 110,000
403 XX SHHS K20 ™ 110,000 0 110,000
Xl 110,000
01 XIS A2E X 110,000 0 110,000
OS2 =48 X 110,000
Xl 110,000
SIHAMACI R CHAA 20,000 20,000 0
307 giztol A 20,000 20,000 0
04 CIZ2tSHALALS B = 20,000 20,000 0
OM133 SUHASCIXC HatA 20,000




2N 230z
M 2oos &Y
CHelr 23 Qe P& U BEX |4 (el @2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OtJ12 S Mot BMALY 2= 85,200 85,200 0
308 XXX S0 A 85,200 85,200 0
01 AXSHBAELS 85,200 85,200 0
OO0tJI2 & Mot=s BAH 23 85,200
cctot g3 HEXA 200,000 30,000 170,000
308 AXIEHH S0 A 200,000 0 200,000
01 HIXNHHNBNEES 200,000 0 200,000
Octetorg st MA KA 200,000
AEe X SHAH =4 7,800,000 6,675,000 1,125,000
= 5,250,000
< 2,550,000
403 MHXISHHE X201 E 7,800,000 6,675,000 1,125,000
= 5,250,000
< 2,550,000
01 XM A=2EE 7,800,000 6,675,000 1,125,000
OAEel & 2dAH 24 7,800,000
= 5,250,000
< 2,550,000
22 X 45,000 45,000 0
308 XX EHH SOl A 45,000 45,000 0
01 AXSGHBLELS 45,000 45,000 0
OS2 NHN2 TAFLHI 45,000
JdEs=sgst=ssa A 400,000 0 400,000
Xl 400,000
403 XAXISH M S X201 400,000 0 400,000
Xl 400,000
01 AXSHMA2E = 400,000 0 400,000
OZs=g2st=s2 HE 400,000
Xl 400,000
SAZA S22 AE 1,925,000 875,000 1,050,000
Xl 1,100,000
< 825,000
403 MHXISHHE X201 & 1,925,000 875,000 1,050,000
Xl 1,100,000
< 825,000
01 XS M A=2EE 1,925,000 875,000 1,050,000
OSMZANSEE=N2 28 1,925,000
Xl 1,100,000
< 825,000
YN GArEtE2 HE 3,500,000 2,625,000 875,000
Xl 2,000,000
< 1,500,000




2N 230z
M 2oos &Y
CHelr 23 Qe P& U BEX |4 (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
403 UHXSHHSA=0l& 3,500,000 2,625,000 875,000
X 2,000,000
< 1,500,000
01 X SHMA2E X 3,500,000 2,625,000 875,000
OEXRX dAet=22 A 3,500,000
Xl 2,000,000
< 1,500,000
MEB2SME X4 X 579,000 0 579,000
Xl 579,000
403 MtXISHHE X201 E 579,000 0 579,000
Xl 579,000
01 XS M A=2EE 579,000 0 579,000
OdE=2stdyH =24 X 579,000
Xl 579,000
9E Hegst AEY 400,000 500,000 100,000
Xl 400,000
403 A X EHHS =0l A 400,000 500,000 2100, 000
Xl 400,000
01 X SHHX2E= 400,000 500,000 100,000
OZs &2dsta A 400,000
Xl 400,000
AMOIH AGLE |FXE 25 ALY 300,000 0 300,000
X 300,000
403 XHXI SIS Xt =201 ™ 300,000 0 300,000
Xl 300,000
01 X SHMA2E X 300,000 0 300,000
OAMOIH AOE KXY 25 300,000
Xl 300,000
HESEEA2 0ld A= 350,000 0 350,000
Xl 200,000
< 150,000
403 MtXISHHE A0l & 350,000 0 350,000
Xl 200,000
< 150,000
01 AXSHMA=2EE 350,000 0 350,000
OMEZSESE=A2 0l& A5 350,000
Xl 200,000
< 150,000
SENSE A2 ¥ 234AH HE 525,000 0 525,000
Xl 300,000
< 225,000
403 A X EHHS 20l A 525,000 0 525,000
Xl 300,000
< 225,000




M 230z
g 0z FE
ool 23 goe X 8 2= |4 (22 &d)
A B (EA) - MRAY - BES Of &t o4 il HIDE2
01 HXSHH =R 525,000 0 525,000
SENY A2 & 23dE HE 525,000
Xl 300,000
< 225,000
FFlz=228Y == S0A4 KA 780,000 0 780,000
Xl 780,000
403 TtXI M SA=01A 780,000 0 780,000
Xl 780,000
01 TtXIEHHItE 2 & 780,000 0 780,000
OFFz=2ddd =& 20AIE Ho 780,000
Xl 780,000
Sd X295 HE 900,000 0 900,000
Xl 900,000
403 MR SHHMSTH=0lH 900,000 0 900,000
Xl 900,000
01 HAHH =2 x= 900,000 0 900,000
O=sd Z2dstat A 900,000
Xl 900,000
gts St Bt R =4 600,000 0 600,000
Il 400,000
S 200,000
403 TR M SA=01H 600,000 0 600,000
Il 400,000
S 200,000
01 XM =L 600,000 0 600,000
O8t® S0 Hiotta =4 600,000
Jl 400,000
S 200,000
2016 = X! 2 elot 1,530,000 0 1,530,000
= 1,020,000
= 510,000
308 XXM S0l ™ 1,530,000 0 1,530,000
= 1,020,000
= 510,000
01 X ESHHBLEES 1,530,000 0 1,530,000
02016 A X1 Z |0t 1,530,000
= 1,020,000
= 510,000
A2 AIEdE2S 200,000 0 200,000
Xl 200,000
403 MR SHHMS K201 H 200,000 0 200,000
Xl 200,000
01 HAHH =2 x 200,000 0 200,000
Olut=3td ANE=2H 200,000




25 230z
HH: 230z 2L
CHelr 23 Qe P& U BEX |4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| | | Al 200,000
23K AESEE 19,000,850 19,703,728 AT702,878
2 9,436,073
J| 1,141,008
= 8,423,769
S3s4ao =1 JIX &= 19,000,850 19,703,728 AT702,878
= 9,436,073
Dl 1,141,008
= 8,423,769
=IIXNE2SM E+=3H| 8,060,525 8,974,355 A 913,830
= 6,623,550
o= 1,436,975
403 XX SHHM S X201 A 8,060,525 8,974,355 A 913,830
= 6,623,550
o= 1,436,975
01 XS A2E X 8,060,525 8,974,355 A 913,830
O2JIXE 23t E=&H| 8,060,525
= 6,623,550
& 1,436,975
2HEX MHIIE=S XNEEH 172,550 189, 550 A 17,000
= 142,100
& 30,450
403 XX SHHS K20 ™ 172,550 189, 550 A 17,000
= 142,100
& 30,450
01 XIS A=Z2E X 172,550 189, 550 A 17,000
O2IIXNE HMAHI|IEE NS 172,550
= 142,100
= 30,450
ZIKNESSN LAY 559,500 52,500 507,000
= 373,000
o=} 186,500
403 XX EHHS K 20| & 559,500 52,500 507,000
= 373,000
= 186,500
01 AXESHIE2E X 559,500 52,500 507,000
O=2IIXE 23 L4=se8IAd 559,500
= 373,000
& 186,500
=2INE 23S =201 A D] 119,203 120,954 AN 1,751
= 119,203
403 XX SHHS K201 & 119,203 120,954 AN 1,751
= 119,203
01 XIS AS2E X 119,203 120,954 AN 1,751
O=2IJIXE 23t =201 D] 119,203
= 119,203




2H: 230
Ha: 2R84 HS2E
& 2R BEEY JIX F= cet )
= (o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SHIEX 23t E+FHl 3,684,000 3,884,000 200,000
202 O4dl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OEXE 3t 2=Fdl A 0dl 6,000
403 XSS A0l & 3,678,000 3,878,000 A 200,000
01 XM A=2EE 3,678,000 3,878,000 A 200,000
OZXE 23 E=+3Hl 3,678,000
HEAME EZEFHI 2,949,180 2,913,000 36,180
= 1,966,120
< 983,060
403 XIS S X201 & 2,949,180 2,913,000 36,180
= 1,966,120
< 983,060
01 XXM 22 = 2,949,180 2,913,000 36,180
O&EAE EEFHI 1,689,000
= 1,126,000
< 563,000
OFSAHE ETHAIAE 2= 1,164,000
= 776,000
= 388,000
OESAHE ETHAIAE KRAE 96,180
= 64,120
< 32,060
EXNZE=2 M =101 D] 97,467 97,467 0
403 A X EHHSH20lA 97,467 97,467 0
01 X ESHHMA=LE L 97,467 97,467 0
OEXNHE 23 =2t01Z | 97,467
SEEM SHE AL 51,100 52,100 1,000
308 XXM SOIA 51,100 52,100 21,000
01 IXNHHBNEES 51,100 52,100 21,000
OSE =3 SHEA X& 36,100
ON4sl ==L 23 M SHEA 15,000
FEEM sk 222,900 230,100 AT7,200
308 A EHHSOIA 222,900 230,100 AT7,200
01 HXNHHNBHEES 222,900 230,100 AT7,200
ORE=3aM dsXE 222,900
ESSSEESH T & St=UH3 A 7,500 7,500 0
308 X EHH SOl A 7,500 7,500 0
01 HIXNHHBNEES 7,500 7,500 0
OSSeESsAT =Wzl M= 7,500




2N
X ZH -
L= B

el

230l = ot
TR dsEE
ZotFM EEN X FE

- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
SXNE2SM ST AL 230,220 234,720 A4 ,500
308 XAHXIEHSOIA 86,220 83,720 2,500
01 AIXSHMENEX= 86,220 83,720 2,500
OEXA 23 2MHEH |XA2e 86,220
403 XX SHHS K20 & 144,000 151,000 27,000
01 HXHAMAHEBE = 144,000 151,000 AT7,000
OZXNEZsM LTHAHIAY 144,000
ERLSX2 M Al HE X 212,706 234,795 A 22,089
J| 141,804
= 70,902
308 MXISHMSOIA 212,706 234,795 A 22,089
J| 141,804
= 70,902
01 HXHHIMNEEXTZ 212,706 234,795 N 22,089
OER 2X23HM 2ZAle= HiEX 212,706
J| 141,804
== 70,902
CANEHSEM SAHA J|=(0HEY 93,000 36,000 57,000
308 XAHXIEHMSOIA 93,000 36,000 57,000
01 AIXSHMENMNEX= 93,000 36,000 57,000
OZXNAMISSIM SAHA JI=(0) &4 93,000
=2INEESSM S MEdH &X 215,536 288,780 NT3,244
J| 163,383
= 52,153
403 XX SHHS K20 ™ 215,536 288,780 NT3,244
J| 163,383
= 52,153
01 MXHAMAE2BE = 215,536 288,780 NT3,244
O=Z2IIXNE 23t Mg &xl 215,536
J| 163,383
= 52,153
St R =X AR 22 Y] 13,000 13,000 0
201 et 9| 13,000 13,000 0
01 AR 22l ] 13,000 13,000 0
Ogtt4f2Y| 13,000
— UEAH A S 2| 13,000
SRLSXIESIM 32289 L STHAER A2 119,000 128,350 AN 9,350
2l
Dl 98,000
= 21,000
308 XX SHHSOIH 119,000 128,350 N9,350
J| 98,000




2N 230z
HE: SHRN HSPE
& 2R BEEY JIX F= (&)
SA - BB B () - MM - BES Ol &t o San HmEET
== 21,000
01 IXNHHBNEES 119,000 128,350 A 9,350
OS=SXEsM a8 & YMHAER
Al 2tel 119,000
J| 98,000
< 21,000
22 SAZRLA A 14,000 13,670 330
= 14,000
308 XX EHSOIA 14,000 13,670 330
= 14,000
01 HIXNHHBNEES 14,000 13,670 330
O2sti e SA2RRI 1Al 14,000
= 14,000
R4 2EAY 65,000 65,000 0
308 XXM SOIA 65,000 65,000 0
01 IXNHHMBANEES 65,000 65,000 0
O=stzat 2EAY 65,000
A Az aE OIS AL 1,400 0 1,400
= 1,400
308 XtXIEHH SOl A 1,400 0 1,400
= 1,400
01 X HHILEXS 1,400 0 1,400
OXtH R L DI AL 1,400
= 1,400
2otF4 2EAY 212,250 210,450 1,800
= 134,000
< 78,250
308 XX EHSOIA 212,250 210,450 1,800
= 134,000
= 78,250
01 HIXNHHNBNEES 212,250 210,450 1,800
OS2} HEE A HH2SM 78,750
= 45,000
< 33,750
OM0lsse NS EEAY 133,500
= 89,000
< 44,500
NS OtSA 23 16,000 16,000 0
308 A EHHSOIA 16,000 16,000 0
01 HXNHHBHEELS 16,000 16,000 0
OXY0tSAL 23 16,000
oM ssAdR XA 200,000 0 200,000
307 glz2tol & 200,000 0 200,000




2A: 2302
HE: SHRN HSPE
9l 2HRM BED IIX FE (29 a8)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 At AMAIEE X 200,000 0 200,000
O== 23 2 H&E 200,000
ZSH=S ALY 1,358,273 760,000 598,273
Dl 737,821
& 620,452
307 QI2t0| ™ 1,006, 164 760,000 246,164
Dl 503,082
& 503,082
02 DI2ZtF AAHE X 1,006, 164 760,000 246,164
OS2 M =AY 1,006, 164
Dl 503,082
= 503,082
308 XX S M SO0l & 352,109 0 352,109
J| 234,739
= 117,370
01 AXHNBMNEXZ 352,109 0 352,109
O25 M SsAg(sg2e) 352,109
Jl 234,739
& 117,370
LEESM MU 43 ALY 76,415 116,000 N 39,585
= 52,700
= 23,715
308 X SHAMSOIA 76,415 116,000 N 39,585
= 52,700
[ 23,715
01 HXHHNBMNEXS 76,415 116,000 N 39,585
ORE2M s 2435 AIY 76,415
= 52,700
= 23,715
stn X2l 124,500 124,500 0
403 MR SHHS K201 N 124,500 124,500 0
01 AIXISHM A28 X 124,500 124,500 0
Ogn |22yl 124,500
M H =& S TH 75,625 90,937 N 15,312
308 AHXI S M SO0l & 75,625 90,937 N 15,312
01 AXHNBMNEXTZ 75,625 90,937 N 15,312
Ost=29 HMEAA HAHSALA S 75,625
(=ZEC 23 WHEARAX S 40,000 0 40,000
306 EH=2 40,000 0 40,000
0132 40,000 0 40,000
OS2 MARA s N 40,000
HNASA STH(EX) 10,000 0 10,000




2H: 230
Ha: 2R84 HS2E
& 2R BEEY JIX F= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 10,000
308 XX EHSOIA 10,000 0 10,000
= 10,000
01 HIXNHHBNEES 10,000 0 10,000
O20164 MAIRA BE=SS AFXE 10,000
= 10,000
#Y2HAH (2s0=) 87,271 86,071 1,200
JlEZl 87,271 86,071 1,200
JlE2&l 87,271 86,071 1,200
201 Let2dE] 20,401 20,401 0
01 At 2t 2l 20,401 20,401 0
OJl2+8l 8,326
OJl==s gl 12,075
202 Oddl 43,470 43,470 0
01 = LH 4 Hi 43,470 43,470 0
OJIEul 43,470
203 YR =2t 23,400 22,200 1,200
01 JI122E S =4 6,600 6,600 0
O=2sHs2&E=% 6,600
04 RENSELR=LH| 16,800 15,600 1,200
OZstl= 4,200
OXM=&E 4,200
Ozza3u 4,200
OH=E=3stt 4,200

_20_




